Math 4 Classwork #10

1. Calculate:
5] = |- 5= 5-2|= 2-5|= 2+ (=7)=

2. Cross out the equations that are impossible to solve; solve the rest of them:
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x| =13
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3. Solve the equations:

X
n

2, -1 1. _1_1 1_3,_1
57 % 5 376 2~ 47 T4
4. Remove parentheses:
(10-3x) -4+ (2x—-4y):2=
(5 + %x)-3+(x—4):2=
5. Find ...
1 1. 3 1.
Zof§15 Zof§15
1 1. 2 1.
70f §X 1S 70f §X 1S
6. Multiplying and dividing by % .
1 _ 1 1 _ 1 1 _
1x 3 = 5 % 5 37 5" x =
n
1: l: l l: l l: '/T\
"5 5 5 3 5 n
X
1 _ R 1.1 > xn 7
2% 3 10 ° 5 3° 6 xn
n
2: l = L X l = l X l =
5 10 5 3 6

7. Make appropriate drawings to solve the equations. Compare the answers.

144:(x—-8)=4 144 :x-8=4




